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SIZE
	 S	 M	 L	 XL	 XXL	
To fit bust		
	81-86	 91-97	 102-107	 112-117	 122-127	 cm
	32-34	 36-38	 40-42	 44-46	 48-50	 in

YARN
Rowan Finest
	 6	 7	 8	 9	 10	 x 50gm
(photographed in Timberwolf 002)

NEEDLES
1 pair 2¾mm (no 12) (US 2) needles
1 pair 3¼mm (no 10) (US 3) needles
Set of 4 double-pointed 2¾mm (no 12) (US 2) needles
Set of 4 double-pointed 3¼mm (no 10) (US 3) needles
3¼mm (no 10) (US 3) circular needle at least 120 cm 
long

BUTTONS - 7 x BN1365 (15mm) from Bedecked. 
Please see information page for contact details.

BEADS – approx 950 [1000: 1050: 1100: 1150] 
beads (no. 564) by Debbie Abraham (size 8).

TENSION 
28 sts and 36 rows to 10 cm measured over st st 
using 3¼mm (US 3) needles.

SPECIAL ABBREVIATIONS
bead 1 = place a bead by taking yarn to RS of 
work and slipping bead up next to st just worked,
slip next st purlwise from left needle to right 
needle and take yarn back to WS of work, leaving 
bead sitting in front of slipped st on RS. 

Beading note: Before starting to knit, thread 
beads onto yarn. To do this, thread a fine sewing 
needle (one that will easily pass through the beads) 
with sewing thread. Knot ends of thread and then 
pass end of yarn through this loop. Thread a bead 
onto sewing thread and then gently slide it along 
and onto knitting yarn. Continue in this way until 
required number of beads are on yarn. 

Pattern note: Due to the number of sts, if 
preferred, the body section can be knitted 
backwards and forwards in rows, not rounds, on 
a circular needle.

BODY (worked in one piece to armholes)
Thread beads onto yarn.
Using 2¾mm (US 2) needles (see pattern note 
above) cast on 253 [281: 313: 345: 385] sts.
Row 1 (RS): K2, *P1, K1, rep from * to last st, K1.
Row 2: K1, *P1, K1, rep from * to end.
These 2 rows form rib.
Work in rib for a further 24 rows, ending with RS 
facing for next row.
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